
Anti-Tipper Casters and Drive Wheels



Anti-Tipper Casters and Drive Wheels
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1179371-NLA NLA - Kit, Tire w/ Hardware 1 11 A

Tire (76 x 318mm) 1 1
Wheel Hardware 1 1
Instruction Sheet, Wheel Installation 1 1

1179369-NLA NLA - Kit, Wheel Attaching Hardware 1 12 B
Hubcap, Drive Wheel 1 13
NLA - Decal, Invacare 3-D Logo (1-19/32" L) 1 14
Locknut (1/2-20) 1 15
Washer (1/2 x 7/8 x 3/64") 1 16
Instruction Sheet, Wheel Installation 1 1

1179370 NLA - Kit, Anti-Tip Wheels w/ Hardware 1 17 C
Wheel, Anti-Tip, Black (3") 1 28
Screw, Socket Button Head Cap (M6 x 1 x 45mm) 1 29
Bushing (1/4 x 3/8 x 1/13") 1 210
Washer (1/4 x 1/2 x 1/16") 1 411
Nut, Lock (M6 x 1mm) 1 212
Instruction Sheet, Anti-Tip Wheels 1 1

A - Includes Tire and Wheel Hardware.  
B - Includes items 3 - 6.  
C - Includes items 8 - 12.  

NOTE:

 


